TA Grading Notes for Midterm #2
Question #1 (32 points) 

1. 10 points

a. 4 points are given when the answer correctly explains “Trade does raise the amount and value of the goods available to a nation.” Trade induces specialization according to comparative advantage, and a country can increase available goods.

b. 6 points are given when the answer correctly explains “trade is not expected to make most workers poorer.” Workers who are in the industries enjoying comparative advantage get gains from increase in wages and decrease in prices of goods. But, even though some wrote that all the workers do enjoy the gain from trade, it is not true.
2. 10 points 
a. 4 points are given when the answer correctly explains “the most efficient technology for producing a particular level of output does depend on the prices of the resources used to produce the product.” The optimal conditions for efficiency are MC <= P and AC <= P. Here, MC and AC is computed by the prices of the resources.

b. 6 points are given when the answer correctly explains “the most efficient technology for producing a particular level of output depends on the price of the product.” In the above optimal condition, P is the price of product.
3. 12 points
a. 5 points are given when the answer correctly explains “an increase in the ‘real’ interest rate will likely reduce the value of Wal-Mart stock.” You need to show the relationship PV and real interest rate.
b. 7 points are given when the answer correctly explains “an increase in the interest rate because of an increase in expected inflation should have little impact on the value of Wal-Mart stock.”  You need to not only show that relationship between PV and inflation rate, but also that the future dollar earnings at Wal-Mart are also expected to rise by that rate. 
Question #2 (32 points)
A. (10 Points) T/F Specialization in production without trade will not be efficient.
True – specialization means producing a set of goods that differs from the set that is the most desired in consumption.  Hence, specializing without the opportunity to then trade for the desired consumption set will, by definition, not be efficient (will make that individual worse off than not specializing.)

Most students got full points by giving the simple answer above. 

Students who didn’t include a proper explanation of the terms “specialization” – and “comparative advantage”, if used – lost one point for each term.

Some of the students failed to recognize the difference of the case in the question (specialization without trade), and explained why specialization with trade would be efficient. They got 4-6 points depending on how well they explained their own case. 
B. (11 Points) Why do most Americans “rent” themselves out rather than making their own decisions about the use of their work hours?

There are substantial production efficiencies available from the use of roundabout production techniques (use of tools or capital to lower the marginal cost of production.)  Use of this production advantage necessitates payment for the capital that is separate from the production of directly valuable output.  Purchase of the capital necessitates complex contracting defining the capital product.  Payment of the capital producing workers by the time unit (wage) with the entrepreneur directing the worker’s efforts can be the low cost way to take advantage of the roundabout production opportunity.  There are also substantial production efficiencies available from use of team production (working together with others.)  In team production the output of individual workers can not be observed.  Hence the workers can not be paid by according to their output and the workers have the incentive to shirk in their efforts.  Payment by the time unit with direction and monitoring by the “employer” provides a method to take advantage of the increased production available from team production.  In summary, the “worker” can have higher income by working for a wage with employer direction that working for themselves. 

Full answer required a discussion of efficiencies of roundabout and team production techniques as above, as well as the explanation of these two terms, ending up with the conclusion that workers earn more under employer direction.
Students who gave the conclusion without any proper explanation/discussion got only 4 points, and the ones with some, but not full, answer got points between 4 and 10, depending on how well they discussed each part of the complex production (i.e. roundabout and team production parts).

Some students answered the question from the viewpoint of owning a firm: how costly and risky it is to establish your own firm, etc. According to the strength of their explanations, they got something between 2 and 8.
C. (11 Points) T/F The revenue from an increase in a sales tax will, other things constant, decline over time.

To a demander, a sales tax increases the price by the percentage amount of the tax.  Graphically the impact is to lower the demand by more the higher is the price.  The sales tax results in an increase in the total price with a fall in the net of tax price to the seller.  An increase in a sales tax will cause a further increase in the price of a product, but a reduction in the quantity exchanged.  The revenue from the increase in the sales tax may rise or fall depending on the elasticity of demand and the amount of the tax increase.  However, the elasticity of both supply and demand will increase the longer a price increase is in effect (the second law of demand (and supply).  The more elastic supply will result in a reduction in the quantity exchanged and a further increase in price.  The more elastic demand will result in a reduction in the quantity exchanged and a reduction in the price.  Together, these impacts imply that overtime the quantity exchanged will fall and the price may fall or rise.  Hence the overall impact on the tax revenue overtime will be ambiguous. 
There were two sides of the story; demand and supply elasticities. Students who explained only one of these sides fully, i.e. why the elasticity would increase over time and how this affects the tax revenue from demand or supply side, got 6 points. Students who were able to recognize both sides of the story got 6 to 11 points, depending on how they got close to the full answer. Full answer was hard to reach because of the tricky opposite effects of changing demand supply elasticities on output price. Most students assumed that both affects would mean a decline in tax revenue, which is the case for only demand side, and did not notice that more elastic supply meant a rise in the price, which makes the sign of the overall change in tax revenue unambiguous.
The ones who tried to explain the situation with time value of money, inflation, or government deficit could only get a few points for their correct definitions.

Question #3 (32 points)
3a) (10 points)

- Definition of comparative advantage (4 points)

- Clear example of comparative adv and explain why you agree with the question (6 points)

3b) (11 points)

- Price of pear increases -> Demand curve of apple shifts rightward because pear and apple are substitute (3 points)

- Price and quantity demanded of apple rise -> income (total revenue) of apple farmers increases (2 points)

- As time goes by, demand and supply curves of apply become more elastic (2nd law of demand or supply and explain why) (2 points)

- Price of apply will drop and quantity demanded of apply will go up

- If demand curve of apply is elastic, income will increases 

- If demand curve of apply is inelastic, income will decreases (4 points)

- Grade given depends on a clear explanation (step by step)

3c) (11 points)

- Definition of opportunity cost (4 points)

- Recognize that the cost is opportunity cost and give an example of opportunity cost of the two farmers (7 points)

Question #4 (32 points)

a. Answer: do not agree

4. If you just talked about nobody is burdened with obsolete equipment (4-6 pts

5. The critical part is foreign countries would drive US steel firms out of market because they have comparative advantage over steel production ( 2 more pts.

6. US can specialize in the production they have comparative advantage in ( 2 more pts. 

b. Answer: false

1. When interest rate goes up, present value will go down ( 6 pts. 

(you can get 4 pts only, if you just put the equation of PV without explaining the effect interest rate would play)

2. Realize both the values of the vintage and new port is related to present value ( 2-6 more pts. 

c. Answer: true

1. Show what the shortage is ( 4 pts. 

2. Supply will be more elastic and thus decrease with time if price control stays( 2-4 more pts

3. Demand will be more elastic and thus increase with time if price control stays ( 2-4 more pts. 

